






























































































































































Mathematics (Aigebra and Statistics)

Total mark
[
10
KB Choose the correct answer from those given : (3 marks)
PRI o
@R, NR ®R,UR @) o] @aend

V2

2 The multiplicative inverse of the number = 1S coorerereserenenes

@ ®:12 s @Y

3

'3 The volume of the sphere whose diameter length is 6 cm. equals -+ cm?

(a)288 d12m ©36m (d)288 1T

Complete the following : (3 marks)

1 The edge length of a cube is 4 cm. » then its total area = -+~ cm~

i .
——=15
3-92
3Ifx%= % » then X in the simplest form = - --ooeeeeoe

2 The conjugate number of the number

Simplify to the simplest form : 2418 +7 50 + % 162 (2 marks)

ERIfX=[-1-4]andY=[3 500
» find the following using the number line :

XUy , Y-X (2 marks)

QEEER  Llsiedl 9



Mathematics

Total mark

Test
10
B Choose the correct answer from those given : (3 marks)

1 The dimensions of a cuboid areﬁcm. sﬁ cm. andﬁ cm.

> then its volume = ----ovmeees cm.

@130 ®1e ©6 @18

2/{8,9,10} = ]85 10[ = weevrveerverneen

@92 ® {810} © 19} @

'3 The additive inverse of the number (ﬁ—ﬁ ) TR

@fls  ®fF-h  ©h @

Complete the following : (3 marks)

1 The multiplicative neutral in R is -+~~~ and the additive neutral in [R i «--ooeoeeeenes

2ﬁ,mam,‘\(8—, -------------------- (in the same pattern)
T LTS LY

Find the lateral area of a right circular cylinder of volume 924 em? if its height equals 6 cm.

(== %) (2 marks)

E]Ifza.:'\l_+‘v_a.m:lb—\’_-l_\r

» find in the simplest form the value of : a? - b2 (2 marks)

L JCLMORSSCRIEET] ES PR | 10



Mathematics (Geometry)

Total mark
10
B Choose the correct answer from those given : (3 marks)

1 The measure of an interior angle in an isosceles triangle 1s 60° , then the number of axes

of symmetry of this triangle is -
@4 ®3 ©2 @1

2 If CEAD and B € AD where AB > DC ~ — -

A B EviD
+ then DR S AC
@> ®< ©= @=
3 InAABC>AB=5cm.>BC=7cm.and AC =6 cm. >then m (£ A) ~+oereeeemeneees m (£ C)
®> ®- ©-
Complete the following : (3 marks)
1 The straight line passing through the vertex angle of the isosceles triangle perpendicular to
lts base ..................

2 The lengths of two sides in a triangle are not equal » then the greater side in length is
Opposite to .................... Y

3 In the opposite figure :
If AB =AC and AY > AX c

A = B X

In the opposite figure : (2 marks)
ABC is a triangle »
AB>AC and XY / BC
Prove that :
m (£ AYX) > m (£ AXY) F— 3

3 In the opposite figure : A (2 marks)
ABC is a triangle - AB = AC
»AD L BC > m (£ BAD) = 25°
»BC =4 cm.

Find : h
1 m (£ DAC) 2 The length of DC - M.

 JGLMORSSCRIEET] o P || 1



Mathematics

Total mark
Test
10
B Choose the correct answer from those given : (3 marks)
1 In the opposite figure : B
s A
HCEXY -m (£ ACX) =35°
_ 450 = 45 35 "
and m (£ BCY) =45 & s =
sthen m (£ XCB) --evoeveeeninees m (£ ACY)

(@)> )< (€ (d) otherwise.
2 If C Ethe axis of symmetry of AB > then AC — BC = ----vvvvoorveeeinns
(@) zero d1 ©)2 @4

3 In the square ABCD ,‘ﬁ)’ is the axis of symmetry of ««---ooooeeeeeeees

@3AB ®AC ©AD @7cTh

Complete the following : (3 marks)

1 The bisector of the vertex angle of the isosceles triangle -
2 InAXYZ ,if XZ > XY s thenm (£ Z) ---oveeeereeee m (L Y)

'3 The number of axes of symmetry of the scalene triangle equals -ooeoooe

In the opposite figure : (2 marks)
X
XY >XLand YZ>ZL
Y
Prove that : v
m (£ XLZ)>m (£ XYZ) ‘
3 In the opposite figure : (2 marks)
A

D € AB where AD = AC

Prove that : 2

m (£ ACB)>m (£ B) C B

L JCLMORSSCRIEET] ES PR | 12



Answers of Mathematics
(Algebra and Statistics)

Answers of Test n

n 1_!@ (2] @
B 119 @29Y3-12 3 :!:i
BB2x312+5Y2+ 1 x912
=6Y2+5Y2+3V2=1412
ﬂXUY=[—15W[ c—‘
=1 3 4
Y-X=]450

Answers of Test B

Bi© 21® 3®
BA(1)1 5 zero 214125 3292

> The volume of the cylinder = 7T r> h

924:272—xr2x6

_924 x7 _ s
_22x6_49 son="T cm.
.'.Thelateralarea:ZJ‘l:rh:2x%x7x6:264cm%
T O R
ez iz 2
52

az—b2=(a—b) (a+Db)

(05 A2 A5 3 ) (05 2 45 3) =247 215
=416

QELIEER  Ulsvildl 21



Answers of Mathematics

(Geometry)

Answers of Test n

(1 O] 2](® 3@

1/ bisects each of the base and the vertex angle.

II\J|

the angle of the greater measure.

13]<

EJ In AABC:

 AB>AC ~m(£LCO)>m((£B) (1)

B P Y X
*+ XY // BC and AC is a transversal.

som (£ AYX) =m (£ C) (corresponding angles)  (2) C
Similarly : - XY // BC » AB is a transversal.

som (£ AXY) =m (£ B) (corresponding angles) (3)
From (1) »(2) and (3) :

som (£ AYX) > m (£ AXY) (QED)

3 - AB=AC,AD | BC
255
s m(£L DAC)=m (£ DAB) =25° (Firstreq.)

,DC=DB=% =2cm.

> (Second req.)

QELIEER  Ulsvildl 22]



Answers of Mathematics

Answers of Test ﬂ
2/(@ 3®

1 O]

1 bisects the base and is perpendicular to it.
2] <

'3 zero.

Construction : Draw YL X
Proof :
In AXYL: -+ XY>XL
~om (£ XLY)>m (£ XYL) (1)
In AZXLiz > YZ>ZL
sm(LZLY)>m (L ZYL) (2)
Adding (1) and (2) :
SmLXLY)+m(LZZLY)>m (£ XYL)+m (£ ZYL)

~om (L XLZ)>m (£ XYZ) (QED)

- AD=AC A
- AD+BD>AC D

s AB>AC

- In AABC:

m (£ ACB)>m (£ B) (QED)

L CLMORSSCRIEET] SN PA. | 23
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211 [ D A A

| Model @

First: Choose the correct answer:

U, N V3
The multiplicative inverse of the numberTls .......................... .
-V'3
0—7 ®6V3 ®2V3 6 -2V3

The volume of the cuboid, whose dimensions are \/?,\/7 and v 6 cm

[

(a ) 0 36 O6v6 G 18V2
V8 - V2

ov2 oOvVe O22 o2

Second: Complete the following sentences:

If the sum of the lengths of all edges of a cube is 48 cm, then its
volume'is ..o, .

The multiplicative for (\/? + \/7) in its simplest formis ...............ceeeee.. .

2  PONY - 2 Prep — First Term



A B
a

Third: Answer the following:

Ifx=v5 -2andy=+V5 +2,find the value of each of the following:
Ox+y
® xy

PONY - 2 Prep — First Term 3
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211 [ D A A

| Model €

First: Choose the correct answer:

V=64 +V16 = .

6 zero ™38 ®-3 ©+8

If the total area of a cube is 96 cm?, then the area of one face = ...... cm?
6 16 (O 64 O 24 @) 48

The S.S of the inequality: =X > 3iIN RIS .o, .
© {-3} ® 13,
©]-,3] ©]-c,-3]

Second: Complete the following sentences:

If the edge length of a cube is 6 cm, then its volume = .......... cm’.

V16 -V10) (V16 +V10) = .t
IFVX =vV2 +1,thenx =

PONY - 2 Prep — First Term



A ~ B
a
Third: Answer the following:

Find the solution set for inequality in R in the form of an interval:

5x-3<2x+9

PONY - 2 Prep — First Term 5



211 [ D

6

' A

hiodel €

First: Choose the correct answer:

V6 1
0 0 oVe OvV2
V6 Y
If x —ﬁ,then X T e, .
V3 V3
ovs O3 0~ 0
If a cube has a total area of 150 cm3, its lateral area is ............ cm2.
6 25 ® 100 ® 125 ¢ 150

Second: Complete the following sentences:

If1-x>4,thentheS.Sof X = ... .

PONY - 2 Prep — First Term



A )
e
a

Third: Answer the following:

Find the lateral area of a right circular cylinder with a volume of

924 cm? and a height of 6 cm.

Ifx=\/?—\/7andy=

3
—————, prove that x and y are conjugate
V5 -v2

numbers, then find the value of "x? - 2xy + y*"

PONY - 2 Prep — First Term 7
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| Model @

First: Choose the correct answer:

V8 V2 =

ov2 oOve o2 o2

The volume of the cuboid, whose dimensions are \/?,\/7 and V6 cm
IS s .

(a ) 0 36 O6vV6 G 18V2
The S.S of the inequality: -1 < X <1 iNRIS oo .

©1-1.1] O-1.1]

©1-1.1] ©[-1,1]

Second: Complete the following sentences:

If the sum of the lengths of all the edges of a cube is 48 cm, then its
vOlUME ISt i
Va+V18 =42 ,ifa= ... .. :

The additive inverse of the number ¥ =8 iS oo )

PONY - 2 Prep — First Term



A B
a

Third: Answer the following:

Find the height of a right circular cylinder whose height is equal to its

base radius length and whose volume is 27 Tt cm?®.

Find in R the solution set of the inequality: 4 x+ 3 >5x+2 > 4x,

then represent it on the number line.

PONY - 2 Prep — First Term 9
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211 [ D A A

hodel €

First: Choose the correct answer:

If'a right circular cylinder whose base radius length is r cm and whose

height equals the length of its diameter, then its volume is ..........cm°>.
emnr ® 1 r? O 2mr’ G2r
The S.S of the inequality: - x < 2 iIN RS ..o .

©]-,2 ®]->,-2[ ©]-2,% © 12,0
IfX=V7 +V3 andy=v28 +V12,then X = .oovo... .

Oy @%y ©2y Oy

Second: Complete the following sentences:

The conjugate number of the number 1 + in the simplest form is

V7

IfX=va -Vb =10andY=Va +Vb =3, findx?-y? = ... :

10 PONY - 2 Prep ~ First Term



Third: Answer the following:

Find in R the S.S of the inequality: 5x -3 < 2x + 9

A metallic sphere with a diameter of 6 cm has been melted and
changed into a right circular cylinder with a base radius of 3 cm. Find

its height.

PONY — 2 Prep — First Term 11
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Model 1
First:
W3 6 V2
Second:
64 cm? V3 -V2
V2
Third:
Ox+y=\5-2)+(5 +2)
=2V5
Oxy=(5-2) (5 +2
=5-4=1

V2x27 +3 2x8 -V 2x125
332 +23V 2 -53 2 =zero

Model 2
First:
zero 16 ]-,-3]
Second:
216 6 3+2V2
Third:

5x-2x<9%x+3

3x<12 +3

x<4 SS=1]-,4]

* The volume of sphere =iTr r’
4,188 _%xgx P
r*=1,000 - r= ¥1,000
=10 cm

12 PONY - 2 Prep ~ First Term

Model 3
First:
3\/3? g 100
Second:
V5 -vV3 @5+2V6
]-,- 3]
Third:
Since volume of the cylinder =
Tr’h
924 =§x 2 x 6
=49 .~.r=7cm

~ Lateral area = 2Trh
=2><§x7x6=264cm2

3 V5 +vV2
\/_\/_\/_\/_
AVS VD) _ ey

P%
sincex=vV5 -vV2
andy=vV5 +V2

. X,y are conjugate numbers.

y=

since(x-y) =x2-2xy+y2

-y =W -V2)=(5 +VT)

VE -V -ﬁ-\/_-—zx/_

.°.(x—y)2=(—2\/7)2=4><2=8



A B
a

Model 4
First:
V2 6
[-1.1]
Second:
64 cm? 2 2
Third:

The volume =412 h “r=h
ST AT ar=27
~r=3cm
since radios of base equals to height
~ height equals to 3 cm.
4x+3>5x+2>4x

(subtract 4x from all sides)
4x —4x+ 3> 5x-4x+ 2 >4x -4x
53>x+2>0

(subtract 2 from all sides)

3-2>x+2-2>0-2
1>x>-2
~SS=1-2,1]

Model 5

First:

21 ]- 2, o9 2y
Second:

1-V7 =2 30
Third:

5x-3<2x+9

5x-2x<9+3

3x<12+3

X <4 S.S =]- oo, 4]

The volume of sphere =iTr r’
_4 22 g T2
5 7 7

Since the volume of sphere = The

cm?

volume of the cylinder.

~ The volume of the cylinder =

Trih
ﬂzgx (3)2 x h

7 7
~h=4cm

PONY - 2 Prep — First Term 13
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211 [ D A A

| Model @

First: Choose the correct answer:

2

In AXYZ, XY = XZ,and XE is a median. If m (2 YXE) = 30°, then

m (£ YXZ) = . :
€ 15° 0 30° ® 60° ) 90°
In A ABC, if AB < AC, then m (2 B) m (2 Q).

0 < 0> = O<

If the measure of one angle in the right-angled triangle is 45°, then the

number of axes of symmetry of the triangle is ............ .

@ zero 01 (c Y (dE

Second: Complete the following sentences:

In AABC,AB = 7¢cm,BC=5 cm,and AC = 6 cm, then the smallest
angle in Measure is ..........ccoocoeveineene. .

The straight line perpendicular to a line segment at its midpoint is
CALLBA .o b :

In the right-angled triangle,the ............c.............. is the longest side.

PONY - 2 Prep — First Term



A B
a

Third: Answer the following:

Ee AB, AD L BC,and D is the midpoint of BC. A
Prove that AC > AE. :
C D B
C e BD,m(z ACD) = 130° A
and m (¢« BAE) = m (£« CAE) = 40°. 40°40°
Prove that:
R _ 130
© AE 1 BC. “b ¢ E B

(® E is the midpoint of BC.

PONY - 2 Prep — First Term 3
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| Model €

First: Choose the correct answer:

If'A ABC has 1 axis of symmetry,and m (2 ABC) = 120°,then m (£ A) =

€ 90° ® 120° ® 60° ) 30°
In A'ABC, if m (2 C) = 100°, then its longest side is ........... .

© AB ®CB

® AC () otherwise

If a triangle has two angles measuring 45° and 65°, then the number of

axes of symmetry of the triangle is ............ .

@ zero 01 (c Y (dE

Second: Complete the following sentences:

In A ABC,AB = 10 cm,BC = 4 cm, and AC = 5 cm, then the smallest
angle in measure is ........... .

In A'ABC, if m (2« A) = m (£ B) = 60°, then the number of axes of
symmetry of AABCis ............ :

The median of the isosceles triangle drawn from the vertex angle is

4 PONY - 2 Prep - First Term



A B
a

Third: Answer the following:

In the opposite figure:
ABC is a triangle, in which: AB = ACand DB > DC.

Prove that:
m (< ABD) > m (« ACD).

In the opposite figure: A
AB = AC,BC = 10 cm, m (2 BAD) = 30°,and AD L BC

30°

€ Find the length of each of BD and AD.
(® Find the area of A ABC.

PONY - 2 Prep — First Term 5
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hodel €

First: Choose the correct answer:

6

If C € the axis of symmetry of AB,then AC-BC= ... .
6 zero Ol (c Wi G4

The measure of the interior angle of the equilateral triangle equals

€ 90° ® 120° ® 60° @) 30°

In the opposite figure: y
If AB = ACand AY > AX, then BX |- ] CY, c

< 0> N «
0= O=<

Second: Complete the following sentences:

In AABC,AB = 2 cm,BC = 4.2 cm,and AC = 5.6 cm, then the greatest
angle in measure is ........... .

The bisector of the vertex angle of the isosceles triangle

The straight line passing through the vertex angle of the isosceles

triangle perpendicular t0 itS DASE ... .

PONY - 2 Prep — First Term



A B
a

Third: Answer the following:

In the following figure:

ABC is a triangle, in which (2 B) = 30°,D € BC,

m (£ BAD) = 20°,E is the midpoint '

of E and E 1 E c
Find m (z ACE).

20°
C D B
In the following figure:
Ee CE and M is the midpoint of each of AC and BD. A
Prove that: m (2« ABE) > m (£ ACD).
M
C B E

PONY - 2 Prep — First Term 7
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Model 1
First:
60° > 1
Second:
LA axis of symmetry
hypotenuse
Third:

<A_D> 1 BC from its midpoint.

» AD is the axis of symmetry of BC.
~ AB = AC

~E€ AB

~ AB > AE

~ AC> AE

« C€ DB, m (2 ACD) = 130°

-~ m (2 ACB) = 180 - 130 = 50°
From A ABC:

“m (¢« B) =180 - (80 + 50) = 50°
-~ m (< B) = m (£ ACB)

~ A ABC s an isosceles triangle.
E bisects « BAC.

Elﬁ E is the midpoint of BC

Model 2
First:
30° AB zero
Second:
LA 3

perpendicular to the base and bisects it

8  PONY - 2 Prep — First Term

Third:

In A ABD:
~ DB > DC
-~ m (2 DBC) < m (£ DCB)-e (1)
In A ABC:
 AB = AC
o~ m (£ ABC) = m (£ ACB)- s (2}
By subtracting @ and ©
~ m (£ ABC) - m (« DBC) >
m (£ ACB) - m (2« DCB)
.~ m (£ ABD) > m (£ ACD)
- AB=AC, AD 1 BC
+BD=>BC=5cm,
m (2 BACQ)= 2 x 30 = 60°
~ A ABC is an equilateral triangle.
In A ADB (which is a right-angled
triangle at D):
+AB=10cm
~AD =V (10)2- (5)? =5V3 cm
=~ The area of A ABC
=%x 10 x 5V'3 =25V 3 cm?

Model 3
First:
zero 60° <
Second:
2B

bisects the base and.is
perpendicular to it

bisects each of the base and
vertex angle



A B
a

Third: “Ee CB
In A ACD: ~ £ABEisanexteriorangle of AABC.
- E is the midpoint ofﬁ M (£ ABE) > m (£ A)-umise (1)
and CE L AD ~In A A ABM and CDM:
~DC =AC AM =CM
~ A ACD is an isosceles triangle. BM = DM
+ £ADC isanexteriorangle of AADB. m (£ AMB) = m (¢« CMD) (V.0.A)
«m (£ ADC) = 20 + 30 = 50° s A ABM = A CDM, then we
From A CDE: deduce that:
m (2 DCE)=180-(90 + 50) = 40° M (£ A) =M (L ACD) s (2
= CE bisects 2 ACD. From @ and ©:
- m (£ ACE) = m (« DCE) = 40° ~.m (£ ABE) > m (« ACD)

PONY - 2 Prep — First Term 9



PREP 2

o /FIRST ALGERBA

Q1: Choose the correct answer:

1) The multiplicative inverse of the number g |

a ﬁ b 6\[? c 2‘\/? d -2'\/?
2) The S‘?S of the inequality: -x<2inRis ..............

a)]-e=, 2[ b)]-2, oo c)]-oo, -2 d ]2, oof
3) 164 + Y16 = .eveverene.

a)zero b)8 c)-8 d +8

4) A right circular cylinder whose radius length is 7 cm. and its height is 5 cm.

,then its lateral area is ............. cm?
a 50m b 70 it c)Im d35mn
5) If the volume of a cube is 64 cm?: then its edge length is ............. cm.
a4 b 8 c)16 d) 64
6) The S.S. of the equation:2 X +6=0is. ......... when XEe Z
a -6 b)-3 c){-3} d) zero
7) If the circumference of a circle is 8 m cm. , then its radius length is ............
a)2 b4 e) 71 d8
8) The multiplicative inverse of the number (43 -2 )is .........
a1 b3 +92 c92-93 dﬁjﬁ
9) If -2x < 6, then x ..........
a)< 6 b)> -3 c)> 6

Mr Ahmed Nassr 0100 37 80 857
Mathematic teacher /MOthSMF.HN
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November Rev
PREP 2

e e /FI RST-ALGERBA

10) The solution set of the inequality:-2<3x+7<10inRis
a[-3, 1] b)]-3, 1] c)]1, 3] d]-3,1]
11) Y2 +V2 = ..
a2 bVa W8 d¥16

12) The volume of a cube is L cm?, If the edge length became twice the first

,then the ratio between the volume of first to second is ..............

a)l:4 b)8:1 c4:1 d1:8

13) The volume of the sphere whose diameter length is 6 cm, equals ....... cm?
a)288 b 12 it c)36m d 288 it

14) If three quarters of the volume of a sphere equals 8 m cm?, then the
length of its radius equals ........ cm
a) 64 b '8 c) 4 d 2

15) The number 3 belongs to the S.S, of the inequality ...............

ax>3 b'x<3 c)-x2-3 d -x>3

16) f x =2 +10,y =12 - 10, then (x + y)2= ceeveree
a)6 b)8 c 4 d 4v2

17) If the surface area of a sphere is 9 m cm?, then its diameter length = ....... cm.
a9 b'3 c).1.5 d 6

Mr Ahmed Nassr 0100 37 80 857
Mathematic teacher /MothsMr.FlN



PREP 2

G kR ST.ALGERBA

Q2: Complete the following:

" November Rev

1) The volume of the sphere whose radius length is 14 cm, it = % I8 sesnuns
2) IfYx =92 +1,then x2 = cccerennnnn
3) The additive inverse of the number V-8 is .............
4) A right circular cylinder whose volume is 125 n cm?,
Its height = its radius length, then its raduis length is ........... cm

5) The sum of lengths of all edges of a cube is 48 cm.
then its volume is ...................

6) The multiplicative inverse of the number ('\/7 +’\/E) in the

simplest form is ...........
7)1 x2=(243 A7 )(2/3 +V7), thenx = ..........
8)If x2-y?2=16,4x -y =42, thenx +y = ...........
9) If # =5+45 , then the value of x is the simplest form is
10)¥3 x¥9 =4............
11) If -2 x <3, then x .c...i.on.
12) The S.S of the enquality: 2 -x <0 inRis ...c.......

13) A right circular cylinder with volume mnt r® cm3, then its height =
14) The volume of a cube is 1 cm?, then the sum of

its edge lengths = .......... cm.

Mr Ahmed Nassr 0100 37 80 857
Mathematic teacher /MOthSMI'.HN
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AWl e /FIRST ALGERBA

Q3: Answer the following:

1) Find the solution set of the following inequality in R,
then represent it on the number line: 3x +7 £ 10

2) If x= and y =7 -‘\/?, Prove that: x and y are conjugate

4
V7 -43
numbers, then find the value of : (x + y)? in its simplest form.

3) simplify to the simplest form: V18 + m -312 - %Vl_s

4) Find in R the S.S. and represent it on the number line: 5<2x+1<9

5) A right circular cylinder , the length of its base rudius is 7 cm,
its heighr is 10 cm.Find its volume.

6) A metallic sphere , with diameter length 6 cm. has got melt
and changed into a right circular cylinder with base radius
length 3 cm. Find its height.

7) Find the height of a right circular cylinder whose height is equal
to its base radius length and its volume is 72 mt cm?

Mr Ahmed Nassr 0100 37 80 857
Mathematic teacher /MOthSMF.HN
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NASSR

ST 'SECOND GEOMETRY

Q1: Choose the correct answer:

1) In A ABC, if AB < AC, then m («B) ........... m («C)
a)< b)= c) > d <

2) An isosceles triangle, the measure of one of its angles is 60°,
then the number of its axis of symmetry is ................

a0 b1l c) 2 d 3
3) If A ABC has 1 axis of symmetry, m ( £ ABC) = 120°, m (LA) = ........
a)30° b)60° c) 90° d 120°

4) If the measure of one angle in the right-angled triangle is 45°,
then the number of axes of symmetry of the triangle is .........

a0 b1 c) 2 ay 3
5) If X lies on the axis of symmetry of AB, then XA ........ XB
a)< b = c) > d <
6) In A ABC, if m («C) = 100°, then its longest side is ............
a)AB b)CB c) AC d) otherwise

7) If a triangle has two angles measuring 45° and 65°, then the

number of axes of symmetry of the triangle is ...............

a0 b)l C) 2 d 3
8) In A ABC, if AB_L BC and AB = BC, then m ( ZA) = ...........
a)30° b 45° c) 60° d 90°
9) If A ABC has three axes of synmetry and AD is a median,
Then AC=............. BD.
3 2 E
c % d %

Mr Ahmed Nassr 0100 37 80 857
Mathematic teacher /MOthSMI’.HN
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NASSR

MATHEMATICS TEACHER

Y SECOND-GEOMETRY

10) If A€ L, where L is axis of symmetry of BC, then AB ...... AC
a)= b)> C) = d) <
11) If ABCD is a quadrilateral in which AB = AD and BC =DC,
then AC is .......... BD
a)Parallel to b) equal to c)congruent to (d)axis of symmetry of
12) In the rhombus ABCD. the axis of symmetry of AC is ...........
a)BD b) AB c)AD d)CD

13) The triangle whose sides lengths are 2 cm., (X + 3) cm. and 5 cm.

becomes an isosceles triangle when X = ......... cm.

a)l b 2 c)3 d4
14) In A DEF, if DE > EF , then m (ZF) > ..........

a)£LE b «£D c)ZF d) otherwise
15) Isoscelse trapezium has ........... axis of symmetry.

al b)2 c)3 do

16) In A ABC, AB=3 cm., BC=5cm, AC =4 cm, then the ascending

order of the measues ofthe angles of A ABCiis .............

a) z2C,~«B, £A czC, A, zB
b) #A;zB.;2€C d) «B, ZA, «2C
66 Math is like |

going to the gym
for your brain. It
\ sharpens your

mind. ,,

\
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Q2: Complete the following:

1) The number of symmetry axes of the equilateral triangle is ...........
2) The longest side in the right-angled triangle is ...........
3) In the right-angled triangle , the hypotenuse is the .......... side.
L has 4 axes of symmetry.
5) The bisector of the vertex angle of an isosceles triangle bisects
the base and ...............
6) In A ABC, if AB > BC, then m(<......... Yo i L iseii )
7) If A ABC, has three axes of symmetry and AD is a median,
Then AC = ........... BD
8) The straight line perpendicular to a line segment from its
midpoint is called ..............
9) The bisector of the vertex of an isosceles triangle ........... ARd iaiisevine
10) In any triangle, if the lengths of two sides are not equal,
then the greater side in length is opposite to ............
11) If x<yand b <a,theny+a>.............
12) In A ABC, If m(«£A) = 67° and m( «£B) = 33°, then AB > ...... -

Mr Ahmed Nassr 7 0100 37 80 857
Mathematic teacher /MchSM!’.HN
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Q3: Answer the following:

A
1) In the opposite figure:
ABC is a triangle in which:
AB = AC, AD _L BC, m( £BAC) = 100° E - .

and BD =3 cm.

Find: a. m( £BAD) b. The length of CB
2) In the opposite figure: &

ABC is a triangle, AB > AC. Y/BX\

and XY // BC, Prove that:

m( 2 AYX) > m( ZAXY) b B
3) In the opposite figure: A”

ABC is a triangle in which AB = AC,

AE bisects ~BAC, AE NBC = {E} and D € AE D

Prove that: a. BE = _;_ BC b. BD = CD . : .

4) In the opposite figure:
AD > DC, and AB > BC

Prove that:
m( .« BCD) > m( «BAD)

Mr Ahmed Nassr 0100 37 80 857
Mathematic teacher /MchSMI’.HN
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Q1: Choose the correct answer:

1) c 6) c 11) c 16) b
2) b 7)b 12) d 17) b
3)a 8)b 13) ¢
4) b 9) b 14) d
5) a 10) d 15)¢c

Q2: Complete the following:

1) 34496 o7 A& 11)> 3
2)3+292 7) 5 I
3) 2 8) 812 13)

)5 9) 20 14) 12

5) 64 10) 9

Mr Ahmed Nassr @ 0100 37 80 857
Mathematic teacher /MothsMr.ﬂN
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Q1: Choose the correct answer:

1) c 6) a
2) d 7) a
3) a 8)b
4) b 9) a
5) b 10) a

11) d 16) a
12) a
13) b
14) b
15) a

Q2: Complete the following:

1)3

2) hypotenuse

3) longest

4) square

5) perpendicular to it

6)C,A

Mr Ahmed Nassr

Mathematic teacher

7) 2 or twice

8) axis of symmetry

9) bisect base , perpendicular to it
10) greater angle

11) x +a

12) BC, AC

0100 37 80 857
m /MathsMr.AN



Grade : Prep 2 Model (1) Sub : Algebra

Mathematics November Exam (2023 — 2024)

n £\ Choose the correct answer from those given :

(1) [ =64 + \[16 =...cceurnuen
(a) zero (b) 8 (c)—8§ (di+ 8

(2) | The volume of the cuboid whose dimensions are ﬁ ) ﬁ and J6 cmis .........
{a) 6 (h) 36 (€) 6,/6 (d) 18,/2

(3) | The SS.of theinequality : -1 < X < 1 inRiS couernnrennnnen.
(@]-1,1] (b)[-1,1] (e)]-1,1] (y[-1,1]

Complete the following :

(1) The conjugate number of the number 2 15 covininnnns
-8

(2) If the edge length of a cube is 6 cm , then its volume = .......... . cm?

(3) The additive inverse of the number =8 i85 c.voeveriireninens

Answer the following :
(a)fx=x=,5-2 and y= J_S + 2 , Find the value of the following :
[1lx+y 2lxy

1111111111111111111111111111111111111111111111111111111111111111111111111111111111111111111111111111111111111111

(b) Find : 354 + 316 - 3250

----------------------------------------------------------------------------------------------------------------
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Grade : Prep 2 Model (1) Sub : Geometry

Mathematics November Exam (2023 - 2024)

n HA Choose the correct answer [rom those given :

(1)

In A ABC ,if m (£ C)= 100", then its longest side is .............
(a) AB (h) CB (¢c) AC (d) otherwise

(2)

If C € axis of symmetry of AB ,then AC-BC = ...............
(a) zero (b) 1 (c)2 (d) 4

(3)

In A ABC has one axis of symmetry and m (£ ABC) = 120", thenm (£ A) = ....
(a) 90° (b) 120 (c) 60" (d) 30°

Complete the following :
(1) In AABC,AB=10cm , BC=4¢m , AC=7cm , then the smallest angle
in MeasuUre s .....ccocevicnencnnans
(2)In AABC,ifm(£A)=m (£ B)=60", then the number of axes of symmeltry
of AABCIS ..coivicinincnnnnn
(3) The median of the isosceles triangle drawn from the vertex angleis ...................

ﬂ Answer the following :
(a) In the opposite figure :
AB=AC, AD LBC, AB=10cm , m (2 BAD) = 30"

Find : [1] The length of BC  [2] The area of A ABC

-------

---------------------------------------------------------------------------------------------------------

(b) in the opposite figure :

Ifm(£ABC) > m (£ ACB) and BD = DC
Prove that : m (2 ABD) > m (£ ACD)

lllllll

lllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllll




Grade : Prep 2 Model (1) guide answers Sub : Algebra

Mathematics November Exam (2023 - 2024)

n £ Choose the correct answer from those given :

(D[ 3-64 + /16 =.............
(a) zero (h) 8 (c)-8 (d)+8

(2) | The volume of the cuboid whose dimensions are ﬁ . \E and /6 cmiS .ouueess

(a) 6 (b) 36 (c)6.[6 (d) 18,/2

(3) | The S.S. of theinequality : -1 € X < 1 inRis .ooccnvinnnnnen.
@]1-1,1] Bi[-1,1] (©)1-1,1] (d)[-1,1]

Complete the following :
(1) The conjugate number of the number ﬁ | T .J- - JE

(2) If the edge length of a cube is 6 cm , then its volume = ........... cm® 216
(3) The additive inverse of the number -8 is ....ccviiivnnee. 2

Answer the following :
(@Ifx=x=,/5-2 and y=./5+2, Find the value of the following :

[1]x+y 2] x ¥y
Solution :

Mx+y=(J5-2)+(J5 + 2)=2/5
Rixy=(J5 - 2) (V5 + 2)=5-4=1

(b) Find : {54 + 16 — /250

Solution :

e —

Y54 + 16 — Y250 = Y2 x27 + Y2 x8 - Y2 x125

=3‘3+2{ﬁ—5(ﬁ=zﬂr{:

(¢) Find in R the solution set of the inequality :4x+3 > 5x+2 > 4x
Solution :

Adx+3-4x > 5x+2 -4d4x > 4x-4x

<3 > x+2 >0

1 > x >-2 € [ —

#TheSS.=]1-2,1] 43240 1 2 3




Grade : Prep 2 Model (1) guide answers Sub : Geometry
Mathematics November Exam (2023 - 2024)

n LA Choose the correct answer rom those given :

(1) | In A ABC ,ifm (£ C) = 100", then its longest side i$ .............
(a) AB (h) CB (c) AC (d) otherwise

(2) | If C € axis of symmetry of AB ,then AC—BC = ...............
(a) zero (h) 1 (c)2 (d)4

(3) | In A ABC has one axis of symmetry and m (£ ABC)= 120", then m (£ A) = ....
(a) 90" (b) 120" (c) 60" i) 30°

Complete the following :
(1) In AABC ,AB=10cm , BC=4cm , AC=7cm , then the smallest angle
I INEASUTC 05 covrrrnnrnnsosnnnnes & X
(2)In AABC ,ifm(£A)=m (£ B)= 60", then the number of axes of symmetry
of BABCE: vnisaiiiariises BB
(3) The median of the isosceles triangle drawn from the vertex angle s ..oooveviiiinnnnn

Perpendicular to the base and bisects it

Answer the following :
(@) In the opposite figure :
AB=AC , AD LBC, AB=10cm , m (£ BAD) =30

Find : [1] The length of ﬁ? [2] The area of A ABC
Solution : C D B

1] = m (£ BAD)=30" , m (£ ADB) = 90" 1

(1] +m ( 1 ) lmi ] [2] = The area of triangle = ~5 base = h
sHi=3 4B = 3= =S In A ADB is right-angled at D :
“AB=AC and AD L BC “AD = [ (10) - (5)' = /75 =5 J3Iem
s Dis th i BC 1 ,
Béﬁi ;nfd;m;nll:;fcm % The area of A ABC=7 = 10 x Eﬁ = 15 .ﬁ em”

A

(b) in the opposite figure :
Ifm(£ABC) > m (£ ACB) and BD=DC
Prove that : m (£ ABD) > m (£ ACD)

Solution :

+BD=DC ~m(£DBC)=m(£DCB) — (1) 'S B
vmiLABC) > m(£ ACB) —+(2) given

Subtracting (1) from (2) : ~m (£ ABC) - m(£DBC) > m(£ACB) - m{£ DCB)
~mi{LABD) > m(£ACD)




Answer the following questions :

B} Complete the following :
@1f: XEZand X <5< X+ 1 then X = woevveeen
@ The S.S.in R of the inequality : 2 - X < 2 is «vveeeveee

@ The S.S. in R of the equation :W,E_’)c2 = Sﬁis ..........

iE Choose the correct answer from those given :

ow_ﬁﬁz .......... ._

@14 Y2 ©2 @7y2
9[1 13]-—{1 93}= ---------- ' .

@) {2} ) [1 53] OO, @3

If: X=—1
@If: X o

@y2-1 o2+ @7 @-1-12

and y is the conjugate number of X s then'y = .........

!B Find in R the S.S. of each of the following and represent it on the number line :
@2<2-3x<8 ”'

©3x-2=1

(&) [a] Simplify to the simple'str furm : l 18 +2 II 1!_
[b] Find in the simplest form : 6+ —— —‘Q +1}

Bir:x=]-3,2], Find in the form of an interval using the number line :
@K, NX.
@ X-R




Answer the following questions :

[EJ Choose the correct answer from those given :

(a) N (b) Z (c)@
@ 5 L5495 295=
(a)ﬁ (b) zero © 575

(a) 0.02 (b) 0.002 () L

5
@Jl-170N[=157]=em |
@{-1,7} (b) [-1 7] ©l-1.7 -~ -
(V5 + Y 5) = e K
(a)— 10 (b) 10 (c) zero

[B Complete the following :
2
(1) The conjugate of ——=is --------
E=E
(2) The S.S. of the equation : x?+64= 0 inRis --eeee
(3)lf X 1,’_ 25y=Y3+2then Xy = e
(4) =2 W irrerernn

() J457[U{5:657} =

la [a] Represent the num_ht:r —‘l{gan the number line.

b1 1r: x=Y3+Y5 5y =543 Find:

(DXy ¢ @ x*+y?

(4 [IEY l*‘_indj_in the Simplcsl form Q 48 -2Y12 + B,J %

. 2 ~ - '
[b] A square sits area 196 cm.” » find the length of its diagonal.

‘B Find in the form of an interval y each of the following using the number line :

(1) ]=5 s00] = [2 500 (2 ]-2,4]U[2,7]




Answer the following questions :

[l Choose the correct answer from those given :

(1) The length of the opposite side to the angle of measure 30° in the right-angled

triangle = ---------- length of the hypotenuse.
(a) square (b) % (c) % (d) twice

() XYZ is a triangle in which XY = XZ , then the exeterior angle of this triangle at the
VErtex y is «eoooeeee angle. _ | .
(a) an acute (b) a right (c) an obtuse (d.) an reflexed

(1) Number of symmetric lines of equilateral triangle is -+« |
(a) zero (b) 1 : (©)2 e ()3
(@) If AD is a median in A ABC > M is the intersection point of the medians
sAD=6cm. s then AM = --eeeee _. |
(a) 2 cm. (b)4 cm. ~'(c)6cem. (d) 9 cm.
(5) In the opposite figure : ’ I A
ABC is a triangle in which : - .
AB=AC ym (£ B)=65°,

\ ) 2
DE BC »then m (£ ACD) = oo | D C B
(a) 65° : " (b) 130°

(c) 115° /4w (d) 50°

B Complete each of the following :
(1) The straight line which is perpendicular to a line segment at its middle is called -

(2) AABC in which : AB=AC sm (£ A) =60° » then the type of A ABC according to
its suie lengths i i ereeen

(8) In the right-angled triangle > the length of the median from the vertex of the right

angle equals «--eeooe
(4) The bisector of the vertex angle of an isosceles triangle - and -

(5) If ABCD is a square s then the axis of symmetry of AC is -+rvee




[E] [a] In the opposite figure :
DE//BA ,CE AD »
m (£ D)=m (£ B) =60°
Prove that : A ABC is equilateral

[b] In the opposite figure :
m (£ ACB) = 90° ;AD=DC=CB =AC D‘
Find by proof : m (£ BAD)
[ﬂ] In the opposite figure : g -
m (£ ABC)=90° »m (£ ACB)=30° 2" A
» E is the midpoint of AC » £
AB=DE=S5cm. R 1

g B
Find the length of each of : AC and BE
Prove that : m (£ ADC) =90°

A
| ]
& C
D - L
E
30
[b] In the opposite figure : A

D& CB sm (£ ABD) = 125° 70

sm (£ A)=70° 125
Prove that : A ABC is isosceles. B D

C
C




Answer the following questions :
'} Complete the following :

@D In a triangle » if two sides have unequal lengths » the longer is opposite the

@ The bisector of the vertex angle of an isosceles triangle bisects the base and ..........
&» InAABC: If m (£ A) =80° and m (£ B) = 60° 4 then the shortest side in the triangle is

B Choose the correct answer from those given :

@ If AD is a median in A ABC s M is the point of intersection of its medians »~ '

then AM = .......... AD
(@) 5 (b) 2 © % @ 3.
€ In AABC : If m (£ B) =90° » then AC ---..-... AB
(a) < (b)= (©) > (d) =
@ InAABC:Ifm (£ A)=100°and m (£ B)>m (£ C) s then «weovvvee |
(a) AB > AC (b) AC>BC ©)AB>BC (d)BC>AC
) In the opposite figure : . A
ABC is a triangle s E and F are two points on BC such that : D
ED/BAand FD//CA IfAB<AC,s . //\
prove that : '
‘ K C F E B
DE < DF %0 .
%3 [a] In the opposite figure : . D_ A
N . >
AD//BC sAB=AD’ y
Find the valu:;_ of : Xandy ¢ _ fr A
[b] In the opposite figure : & A 2
A ABCiin which : AB = AC > DB =DC » 2

m(ZA)=40° i
<y m (£ D)= 100°

Find : m (£ ABD) [7196 )




Aﬂswer tke fauawmg quemons :

Ln! Complete the following :
@QIf: XEZand x~<1E<x+ | then X = 2
@ The 5.S. in IR of the inequality : 2 - X < 2 mjajw Z- I

€© The S.S. in R of the equation : ‘V_.XZ_S 2is - E-\}—J *}Mj

[E) Choose the correct answer from those given :

@V16-Y2=..

@714 @2 ¢ @ ?ﬁﬁ

O[1,3]-{153} =

(a) {2} (b) [1 53] ©[1,3[ oy

OIf: X= 1’_1 and y is the conjugate number of X s then y = -ceeve..
221 R

®Y2+1 @2 @-1-V2

[E} Find in IR the S.S. of each of the following and represent it on the number line :

@2<2-3X<8 }j——..)o[ {1_;_’%;2 >
QY3x-2=1 if’f

] [a] Slmpllfy to the sumplest form : V—+ 2 [_ 1[— = Z¢ro
[b] l'md in ’“]L Mmpltst I(n m : \‘ 16 + 1,‘ +1J - E

Bi1r:x=1-3,2] » Find in the form of an interval using we number line :
P g A4 -
QK NX,]0, 2] y ———ng

— O g
- =
OX-r. [o,2] 2




S e, i

Answer the following questions :
[} Choose the correct answer from those given @
N7 Escs
() N (b) Z ()@
(2) %ﬁ+ﬁ- zﬁz
(EI)'\G (b) zero (c)Sﬁ (d) —ﬁ

(3) The cubic root of 0.008 is -

(a) 0.02 (b) 0.002 @ gd) 04

@Il-1>71N[-1 3 7] = s

@{-1,7} ) [-157] @ «(d) D

EVE P+ 5) = o _

()~ 10 (b) 10 Cerzero > ()= 10

B Complete the following :
(1) The conjugate ofﬁ—T; is K—-— {; i
(2)The S.S. of the equation : X + 64 =0 in R is -3
@)If: x=‘ﬁ-2 Y =ﬁ+ 2sthen Xy = ""_Z _ !

@ YE+ 8=2x2-

(s) J4 sT[U{S 36 17}=]4;7j

% v A
X Ia] Represent the uumﬁb’éri—ﬁon the number line.

b1ir:x=13+¢5 _,;}'=ﬁ-'ﬁ Find :

(1) Xy :2 (E)xz“?‘)’z:_[é

(4 [IEY] Fir'ld"_in the ;-i3-11])!csi form :m- Z'VE+ S,J% = ‘[?

[lJfA square »its area 196 cm.? » find the length of its diagonal, = 14_ |L2

ﬂ Find in the form of an interval s each of the following using the number line :

(1)]-5 seo| = [2 5 o (2)]-2+4]U]2.7|
P —— ~
& f acmg.ﬁé &_%4

'_5 Q -9 2 4 7

| (=59 bzl




{ Answer the following questions :

H Choose the correct answer from those given :

(1) The length of the opposite side to the angle of measure 30° in the right-angled

triangle = oo length of the hypotenuse.
(a) square (c) % (d) twice
(2) XYZis a triangle in which XY = XZ » then the exeterior angle of this triangle at th:é | ll
vertex y is -+ angle.
(a) an acute (b) a right (c) an obtuse ) (d) an reflexed

(1) Number of symmetric lines of equilateral triangle is -+

(a) Eo (b) 1 ; (c)2 = | .- I

(a) If AD is a median in AABC , M is the intersection point of the medians
sAD=6cm. sthen AM = «-oceeee

(a) 2 cm. (c) 6 cm. (d) 9 cm.

(5) In the opposite figure : ' ! '.'_ A
ABCisatriangleinwhich: % Y
AB=AC ym (£ B)=65; % o2 I
D E BC »then m (£ ACD) = +veren ¥ D C B
(a) 657 L P (b)130°

A N e

Bl Complete cach of the l‘ol‘lowing :

A% of

(1) The stralght lme which is perpendicular to a line segment at its middle is called -S5/#m E’T(J
(2) AABC in which : AB=AC >m (£ A)=60°  then the type of A ABC according to

its snde!cnoths IS é’%{/ /¢?7~fa

(3) In the nght-'mgled triangle » the Iength of the median from the vertex of the right
“angle equals }q.:f/f 4 /t?hjz’}; & ;:L_jpr?ﬁf’?ﬂ/ft"

4) The bisector of the vertex angle of an isosceles triangle - - and -

(s) If ABCD is a square » then the axis of symmetry of AC is BD

fer ’%,t”_jﬁ‘g/;”; © an/ bisecTIT




———

El [a] In the opposite figure :

DE//BA ;CE AD
m (£ D)=m (£ B) =60°
Prove that : A ABC is equilateral

[b] In the opposite figure :
m (L ACB)=90° yAD=DC=CB=AC
e
Find by proof : m (£ BAD) = zfp_g

[n] In the opposite figure :

m (£ ABC)=90° ym (£ ACB) =30°
> E is the midpoint of AC »

AB=DE=5 cm. Jocm :
Find the length of each of 7 AC and BE — 5 ChM

Prove that : m (£ ADC) =90°

[b] In the opposite figure :
DE CB »m (£ ABD) = 125°

»m (L A) =T70° ‘“..
Prove that : A ABC is isosceles. =
.{:. i ,_- 3
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Answer the following questions :
[ Complete the following :

@D In a triangle » if two sides have unequal lengths » the longer is opposite the
angle - 3}%4'223?/‘ [h pngasure

€ The bisector of the vertex angle of an isosceles triangle bisects the base and ﬂg/}%ﬁaécaf ’

€ InAABC: If m (£ A)=80° and m (£ B) = 60° » then the shortest side in the triangle is /4~

B Choose the correct answer from those given :
&3 If AD is a median in A ABC , M is the point of intersection of its medians »

then AM = ..oueee.. AD il N -
" :-'-
@ & (b) 2 © 5 .
& InAABC : Ifm (4 B)=90° s then AC -ceee- AB

(a) < (b) < @> (d) =

@ InAABC:Ifm (£ A)=100°and m (£ B)>m (£ C) sthen -ocovee

(a) AB>AC (b) AC>BC (c) AB > BC c

B} In the opposite figure :

ABC is a triangle s E and F are two points on BC such that :
ED // BA and FD // CA IfAB <AC » //\\
prove that :

DE < DF

‘EX [a] In the opposite ﬁgurc J
AD//BC AB=AD" - 7{; }5
Find the va]ue of : x and y 3 25

[b] In the oppusstc ﬁgure .

AABC in Wthh AB AC »DB=DC,
m(ZA)=40° i
.__,‘m (L D)= 100°
| Find:m(LABD) = 3o l

>




Page ( 7 ) Final Revision-Algebra - 2 Prep-First Term

(( Sheet 5))

" Operations on the real numbers '’

+ Find each of the following in simplest form :

D V2 +342 +242 =
2) 543 - 243 +44/3 =
5~ B £2485 + 48 =

7) 242 X345 =
8) 242 x 342 =
) V2 (5+42)=
10) (V2 +1) (3 +2)=

4+ Put the denominator as whole number :

10

2
D5 23

+ Complete :

1) The additive inverse of B

42
2) The additive inverse of { V2 - /5 ) =

3) The multiplicative inverse of +/5 is

4) The multiplicative inverse of ?2 18

N39) Bole D Glesls B aeess i




Page ( 8 ) Final Revision-Algebra - 2 Prep-First Term

(( Sheet 6 ))
"' Operations on the square roots '’

+ Find in simplest form :

D) V2 + 18 +48 2) V98 - V128 - V18 +44/2

3) 243 + 27 - 38 4)@-m+6\g

5) 2+/5 + 4420 -5\g

D 27 248 -2 J18 318 8) V3 + 2420 + 412 + /45

+ Complete :

1)IfX=£

2
D5, J20 , 45 , 8O, ceinen..... in the same pattern

ANs9) Qole A Aol ) depsd o




Page (9 ) Final Revision-Algebra - 2 Prep-First Term

(( Sheet 7 ))
" The two conjugate numbers "

[[ Note ]]
I (X+3),(X-3) are conj

2 {48 +42 ), (4B «Al2) are conj
3) (a5~ 1) 045 1) are conj
4) (5 +43). (5 +43) not conj

2 : 9
L. IFX = Y = /7 - 45 CFPind ( X +Y
«/7—\/5 ( )

3 :
. IE X=45 =42 Y = ——— Prove that X and Y are conjugate numbers
52 e

then Find X°—2 XY + Y?

3 I X =7 ++5 Y=%

i Ml
XY

N39) oo N Gledlu aeess ¢




Page ( 10 ) Final Revision-Algebra - 2 Prep-First Term

(( Sheet 8 ))

" Operations on the cube roots '

#+ Find in simplest form :

D2 +316 +2 354 N Y24 -233 + Y81

3) ¥-54 + Y16 - Y250 4)%/§+\/3—24-3§g

5)43108—2%/2-3% 6)%/5—3\/Z><%/€+33\g

7)%J1—8+%/§-7J§+%/E 8)3_16+1T‘;-m+a/5—4
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(( Sheet 9 ))

" Applications on the real numbers "'

+ Important rules :
[[ Cube ]]
L.S.A=4L%
T.S.A=6L°

Volume = L°

[[ Cuboid ]]
LSA=2{ X4X )x
TSA=2(XY+YZ+7X)
Volume = XYZ

[[ Circle ]]

Circumference =211 r

Area = IT 1°

[[ Sphere ]]

3

Volume = % IIr

Area =4 II 1°

[[ Right circular cylinder ]]
L.S.A=2IIrh
T.SA=2Ith+20r
Volume = IT r° h
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+ Complete :
1) If the edge of a cube is 5 cm then its volume =

2) If the volume of cube 64 cni’ . Then its lateral area =

3) If the total area of cube 96 cm’ . Then the area of one face =

4) Aright circular cylinder with volume 4011 cm’ and its height 10 cm then its base
radius =

5) The volume sphere whose diameter 6 cm =

6) If the volume of sphere % I e’ . Then its radius =

# Problems :
1) A cube whose lateral area is 36 cm” . Find its total area and its volume .
2) A cube its volume 27 cmr’ . Find its total area .

3) The sum of all edges of a cube is 60 cm . Find its volume .

5) A circle its area 154 cm’ . Find its circumference .

6) Aright circular cylinder its volume 924 cm’ and its height 6 cm . Find the lateral area .

)
)
)
4) Acuboid its dimensions 3 cm, 4 cm, 5 cm . Find its total area and its volume .
)
)
)

7) Find the height of right circular cylinder whose height is equal to its base radius and
its volume is 7211 cm’ .

8) The volume of sphere is 4188 cm’ . Find its radius length .

9) Ametalic sphere with diameter 6 cm has got melt and changed into circular cylinder

with radius 3 cm . Find its height .
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(( Sheet 10 ))
" Solving equations and inequalities of first degree in one variable

inR "

+ Find S.S of equations in R
) 2x-3=4 2) 5 x-1=4

+ Find S.S of inequalities in R and graph the S.S on number line :
D2x-1=3 2)2X +5=23

e Y H5-3 x <11

5)-8<3 x +1<4 6) 13>2 x -1>5

7| -8| €2 % -1%5

9)2+2 X <3 X +3<5+2 X 10) Xx-1<3 x -1<x+1
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